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Lufthansa 1d Sh+ Connecting from €254
# lberia 8h 45m Nonstop from €301
“« American 8h 45m Nonstop from €315
= Finnair 8h 45m Nonstop from €315
—= British Airways 8h 45m Nonstop from €315

Lucia wants to go to the United States of America. She needs to save money
on her flight so that she has more money to spend while she is in New York.

Read each question. Write zero conditional answers.

How much does it cost if she flies with Lufthansa?

, €
How much does it cost if she flies with /beria?
, €
How much does it cost if she flies with British Airways?
: €

Which is the best option? Explain. *CLUE*™ Think “superlative”

is the best option because it . (cheap)




